0000000000000000000000000000000 ajz+By+7v2=20; (j=1,2) 0
000000000000000000000 (oq,B1,7) 0 (az,82,7.) 000000000000000
000000000000 LODO00000O0000000000000000000000000000
00000000000000000000000000000000000

L

L=HNH;

ip Hs

0000000000000 0000D0D0O0ODO000D0Do000 (a,84,v) (j=1,2,3) 000000
goboooooooboooooobou poobobOOoO0oO0OO0O0OobOO0OOoDOOOO0OO0ObOOOObOObOOOn
gbooooooooooboobooooooobooooboooboooboooooobooobooobooobooboooboooon
goboooobooooboooooooooooa

coooooobocooOooooooobOOobOO0O0obOOobOOoOooOoOooOoOooOoOobOOobOOobOOobOobOOOonOOoDnn
ooo

cobooooobobooOoobooooOoOoOoOoOoOboOoOobOOo0OOoOOOOOOCO0ObOOOObOOOOODn
goboooooooobooooboooobooooooog

025 () 000000000000 ODOOOOODOUOODOODOUODOODOODOOD

goboobobooboobbooobooboboooboobboboboobboobUoobbooboOoo
gooboobobobooooooooooboboboboooboooooboDobobUoboboboboooo
gooooooboobooooboobooobobooboobbooboobbooboobboboboob o
goooboboboboooooobooooboboboboobooobooooboobobobobobooo

3 DOoOoboon

000 (index) 0000000000000 (array) 00000000000000000MKL,2,---,n)}
00000000000000000000000000000000
Ooooooooooo*s

aiil @12 A1n
a1 a2 - A2n

A= . . .| = (aij)i<i<mi<j<n
am1  Am2 - Amn

*1500000000000000000000
*16 oo OoOO0DO000000D00000000000000000000000000000000000000000000
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OmxnO0000 (matrix) D0000000m=1000000000 (row vector)On=100000
0000 (column vector) 000 0Onxn 00000 nO000000O (square matrix) 00000
goooooboobooooboooboooobobooobOobooboobobOoooobobobobooDbOo
0000000000000 000000000000000000oooooo* 000000000
gooboboboooooobobobobobooobooboboboboboooon

e 0 (addition) O 000 OO O scalar multiplicationT]
o [J (product) OmxnO0 A= (aij)lgigm’lgjgn Onx!{0O0O B= (bjk)lgjgn,lgkgl oooa

C = AB, Ci = Zaijbjk
j=1

000000 mxIOOOOODO
e 00O (zeromatrix) J0OO0O0OOOOOD 0OODDODDODODOD 0, 0000000000
oooooo oO0O0OO0OO0O0OO0 0000000000000 O0OOOOOOOOOOOO

goboooboooobooooo

by

(al N an) = Z ajbj
j=1

bn
goboooooooooooooo
0 3.1.000oo0ooooooooooooog
o0 3.1. 0000000o0ooon

(i) 0D0D0D0O0DDO0O0000 (associative law) 00000 (commutative law) 000000
(ii) O0o00o00o0O0o0oo0oboO0oo0oo0ooooooooooooooooooooo
(iii) ooo00oooooooooooo (distributivelaW)DDDDDD

e 100DODDODODOODOODDOD*OODDOODDOODODODDOODOO

3 (DDDDDD)

oooooo

n
cobooooooobooobooon 172,-~-,nDDDDDDDDDDDZakDDDDDDDDD

k=1
coooooobooooo

7000000000000 0000000000000000000000000000000000000000000000
oooooOoO0oo0oO0oO0oo0o0oOo0o0b0O00o0oO000O000OO00O0O00bOO000OO000000O0O000O0O000O
Jdoooooooooooooooooooooooooooooooooooooooooooooooooooooooan
goooooooooooooo

*18 00D0000000000000000000000000000000000000
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e 0000 (unit matrix) I,, = (§;x)1<jr<n 0000000000000 (Kronecker’s delta)

1 ifj=k,
Ojk = .
0 otherwise.

n n n n
E, ajk = E E :ajyk: E ,E :aj,lv

1<j,k<n j=1k=1 k=1j=1

m
Z(Si’j Ak = Qi < ImA = A.
J=1

O 3.2. 000000000O0cO00O0oOooooOooooooooooboOonon

a a
(abc)b, b(abc).
c c

0 3.3. (1) 0000000 A, BOOAB#BADD AB=00000000000000000
0 3.4. 0000 (ajk)i<jh<n 0000000000

n o n n k
DD k=) Y

j=1 k=3 k=1 j=1

ooooooon
035.mxnO0O AODODOOODAL, =A0000O

0000000000000 D0000000O(A4B)+C=A+(B+C)0 A+B+COO0DODOOO
00 (AB)C=A(BC)0O ABCOUOOUOOUODOOOODOODOOODOOOODOOODOOODOOODOD
000000000000 0000O0000D0O000D0 ABCDOODUOOODOOOODOO

((AB)C)D, (AB)(CD), A(B(CD)), A((BC)D), (A(BC))D

0000000000000 0000o0ooooOoD (XY)Z=X(YZ)Ooooooooooooooo
ooboobooboooboooooooboooboooboomoooooooOoooooooobooboOobooog
OooooooooooooboOooobo0oobo0oooooOoooo

00 3.3 (000000, nO00D00D00 A4,---4, 000000000 00000000000

Proof. n 00000000000, 000000000000000O0O0O0O0O00000000000
0000000000rn 0000 Ay,---,A4, 00000000000 By, = (A1 Ap)(Apgr -+ Ap)
(1<k<n-1)0000000000B,=B,=---=B,,00000000000000000000

900000 1 0000000000000000000000000000000000000000000000000000
007 (00 identity 10) 000 E (00 Einheit =00 unit 00) 00000000

*20 Generalized associative law. 000 0000000000000 0000000000O0000O000O0OO00ODO0OO0OO

2lgoooooon 2n—2)!/(nl(n—1)) 0000000000000 (Catalan number) 00000
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000 Ap-Ap = Ap(Apgr - Ap) O Ay Ap = (A1 Ap_1)A, 2<k<n-1)000000000

00
Br_1= (A1 Ap1)(Ar(Apy1--- Ap)) = (A1 - A1) A ) (Aggr - - An) = By,

oooooooO0o0ooooO0o0oooOO0o0oooOo0o@ooOo0oooOo0ooooOo0oooooooooo O

nO00000 ADOOO m(m=1,2,---)00000AO0 mO000D00000O020 Am=A---A
0000000 AQ m O (the m-th power*? of )00 000000 (AY)™ = Alm, AlA™ = AH™ OO
0ooooooooo*™oooooAldA™=A4A"A'0000

0 34. 0000000000DO00DOODOOOODOOOODOOD
(A+B)?=(A+B)(A+B)=A(A+B)+B(A+ B) = A> + AB + BA + B?
0000000 A2+24B+B2000000000000 AB=BAOOOO

03.6. (1) (A+B)?20000000000AB=BA00000000ODOO0000OOOOOOO00O0

0o 3.5. 0000000

T a; by ¢ T
e L PTIN yn+i - a; b; c; o
Ynt+1 = Q2Tp + bayp + 2 n1+ 0 0 1 1”
00000000 oOoooooOo*gooooooo
IR T ar by
n=|y|, A=laz b c
0 0 1

gobooooooooo vn+1:Av_n>DDDDDDDDDDDDDDDDDDDDDDD

1}_,::14’()"_1:1421}”_2:“-:‘4“%
00oooooooooooooooooooooooo A0oooooooooooo

0 36. NOOOOOOoOoOooooooooOoOooOOoOoOoooooooDooDoOOoOOOoOoOooooooooo
oooo {1,---,N}OoOO0OO0OO0OO0OOOO0O0:00000 70000000000 @;; 000000 NO
0000000000D000000 (adjacency matrix) 0000000 AODOOOOOOOa; 000 40
gooboboboboooooogo

cooodo0o+:00bOOoO0bOO00DOO0bOO00O00U0DOU0b0O nODOOUODOOO jOODOODO
0ooo A0 (4,7) 00000000 0000000000 DODO0O0OODOOO0ODOOOO

3
A:

==

1
0
2

o = O

2

*22 00000000000000000000000000000000000000000000000000000000
*23 m = 2,3 00000 0second power, third power 00000 square (00), cube (00) 0000000
*240Q0pD00000000000000000000000

*25 00000000 column 000000000 sequence 0000000000000 0000O000OOOO0O0O0
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ooooooo

0000000 A, BO0ODODOOOOOOODOODOO A, B;, 000000000000 OOOO
0o0oo0O0oboOooo00 A;B;, 00000 4,5,0000000000000000000000O000
00000 C=ABO0OO0OO Ci7k=Ein7ij7kDDDDDDDDDDDDDDDDDDDDDDDDD
000 (block matrix computation) 00000

o 3.7.

— —
() 00 ADDODOOO &,---,4, 00000000 BOOOOOO by,---, 000000000
00000 ABOOOOODO0O0O00000OO0OO00O0O0O0O

& &B
Aoy .. ) =(ab, ... an). | |B=| : |,
e I e
a) Sibr . &
: (b_f E))= Do
b S

(iil) 00 ADODOODO cﬂ),-n,a_n}DDDDDDDD BOOOOOO E,-n,aDDDDDDDDDD
0000 ABUOOOOUOOOOOUOOOOOO

by
@ ... @) |=ab+ -+ @b
<_
bn
ooooBUO nOOO0OOO0OOOOOOO
b1
Al =@ .. by + -+ by = bral + - + bua,.
bn, bn
%
(i) 000 nO00O0O0OO A, B,0000DO 7,bDDDDD)\uDDDDD

(A a)(B b> <AB Ab+5—>)

0 A 0 u 0 AL

0000000000000 000000000000D00000000D0000O0DOODDOn* ey
O0000000000O0b000o0b0000o0b000o00o0oO0o00o0oo0oO0bO00o0ooO0ob000oO0n0 1000000
0000000 0d0oboo0ooooooboooobooobooooooooooooobo0ooooboooon
gdoooooooooooooo

0000000000000 000o0000000DOO0n0 Xo0Oooooooo X=X3u---uX;00
0000000Y =Y,U---UY, 0000 Z=2Z,U---U%, 000000000 A = (asy)eex, yey;
0000000000C=ABO0O0000 Cig = (Coz)rex;zez, 00002 € X;,y€ Z, 00000

Coz = ) Oayb yzfzzamy =Y DA ;B O (2,2) D00=0Y A;;Bjx O (v,2) 000

yeY Jj=1yey; J J

*26 0000000 (100 [2]000000000000000000000000000000000000000000
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DIZIIZIIZIIZII:II:II:II:IEIEIEIEICNC:Z;nzlAi,ijykIZIIZIIZIIZIDDDDDDDDDDDDDDDDDDDDD

goobooboobooobooboooobooboobbooboobbooboobboobOoo

4 O0O0OoooooOon

ax—|—by:s<:) a b\ (z\ (s
cr+dy=t c d)\y) \t

sd —tb at — cs

x_adfbd y:adfbc'

ooooooooon

Uez,yddoooono

O 4.1. 000000000

a b
DDDDDDDDDDDDDad—MDDDsz( d)DDDD(@mmmmmWUDDDD
&

a b
det(A) = |4 = [ d‘
O0000*0oo0o0000ooooonooonooo
a bl |s b a bl |la s
e dT Tt d e dlY T e ¢

ooooooo
00 ADODDOOO A=(W,?)00000

(i) OO0 (linearity) D0 0000000000 OODOOOOODOOOOOOO
det(a @ + 6, V) = adet(U, V) + Bdet(W, V).

(i) 0O DO (alternating property)d

det(, 7)) = — det(V, ).
(iii) 00000 (normalization condition)O
det(I,) = '1 0

0 JL

ooo

ar+bhy+caz=1t
asx + be + oz = t2
asx + b3y + c3z = t3

2 O0000000M00000000000000000000000000000000000000000000000000

goooooooooOoO0OO0OO0O0OO0O0O0O0000000000O0O0O0O0O0O0O00O0O00O0O0O0O0O0O00000000
*28 00000000000000000000000000000000000000000
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